How long until the zombies take over?

On the TV show The Walking Dead, a disease was contracted that turns people into zombies or
Walkers. If the Walkers bite @ human, the human is turned in to a Walker. Assume that the
each Walker turns one person a week into a zombie and that none of the Walkers are killed.

1. The d@gram below represents a town with 150 people. Each box represents a human,;
each filled in box represents a Walker. Keep track of the Walker and human populations
over time.
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a. How does the Walker population change each week, and how long will it take before
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b. List the nUmber of Walkers as a sequence for the first 5 weeks.
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Write a recursive formula for the sequence.
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2. A different town of 150 people started with 3 Walkers. Complete the table below.
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How long will it take for everyone in that town to become a Walker?
Botrneen S Al weeks

List the number of Walkers as a sequence for the first 5 weeks.
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Write a recursive formula for the sequence How is it different from your answer to 1¢?
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. Imagine there is an infinite number of people who can be infected by the Walkers.

a. Create a sequence showing how many people are infected if there are__c}Me_rs to
start at week 0. Show weeks 0 to 5.
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b. Write a recursive formula for the sequence.
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¢c. How many Walkers wnll there bein...
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d. How can you figure out how many total C/Valkers thge will be for ANY week?
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